x1073 0.2 x1073

< d cot(B) >
o
[
[6)]

(@)

LR L L L L UL R AR
b 0 0 +
o

TIT [T T [ TI [T T T[T I [T T[rrrT

|
PO
u N

=3 -2 -1 0 1 2 3 =3 -2 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

— 100

=
o
o

E 5 5 E 5
= golt £ | EE R TP ER RPN S - = O |- H - ae e i 1 HH
A " : A A
2 600 24 1| SRR TP PEE PR PEPPER PP - N GO -T-H -t b
g ! : E !
v 40 i || SRR AR SRR vV 40+ i

2081 {HHEH FRTT b T e 200 -{-Hf

0 1 2 3 =3 -2 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p. > (%)

Ratio

#w *
" +§ Tﬁ,
TP n (PCA to beamline)




	Contents
	Page 1


